SA:
B

eel:

SASAARR
Colo AVBT(LA/LAR)

SR EE I

2AazaARd 6,940,915 7,042,258 101,343
= 258,877
Z 40,704
I 121,838
=S 6,519,496
Tolo] AYB(LA/SAR) 1,363,230 1,791,296 428,066
= 128,877
Z 40,704
Il 121,838
= 1,071,811
288 g L MEZM 645,952 791,446 A 145,494
=2 128,877
b 121,838
LS 395,237
DId=EA 76,010 106,984 230,974
101 Q1218 4,510 4,484 2
BIETEESO=LP3 4,510 4,484 2
olld= BN 2= 4,510
Oos 3,403
OnzaY+y 697
ogERg3 410
201 Er2 S| 1,500 1,500 0
01 A2 Z2lHl 1,500 1,500 0
OWSE BN M 300
OLAEH FEAAHI 1,200
202 04 H 5,000 5,000 0
01 2401t 5,000 5,000 0
on4s A 5,000
207 1o EHl 55,000 48,000 9,000
03 A& ¢ =2H| 55,000 46,000 9,000
OAIS ¥ IR 7Y 47,000
OuBFH FERH ¥ 42 8,000
405 T&k5 SH| 10,000 50,000 £40,000
01 et USEH SH| 10,000 50,000 £40,000
Ol d=H D] 10,000
MOI= % S MBATE(2D) 50,000 40,000 10,000
ol 25,000
= 25,000
101 QI 248| 8,784 8,778 6
Il 4,392
& 4,392
WBTEIVEESO=LPS 8,784 8,778 6
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FA:

e

Eel:

PAEAA T
SOI9 AAFA(BA/2AAR)
Aoy TS U HSIA

OO = ZA Bx 8.784]
oz 6,355
J| 3,177
= 3.178
ogzsgsy 1,230
J) 615
= 615
OY =S| 300
J) 150
= 150
on0I2 100
J) 50
= 50
ommzD 799
J| 400
= 399
202 01 b 3,000 3,000 0
J] 1,500
= 1,500
RENET 3,000 3,000 0
OUOIx T 3,000
J) 1,500
= 1,500
207 o1 I 38,216 28,222 9,994
J| 19,108
= 19,108
03 AlE o1 21| 38.216 28,200 9.994
OAIS & I 2 36,600
J| 18,300
= 18,300
OABXE 2E DH L 42 1,616
9 808
= 808
NES 0% ¥ B2AAA(2D) 148,250 136,770 11,480
= 74,125
= 74,125
101 1241 26,250 13,000 13,250
= 13,125
= 13,125
PR EE LS 26,250 13,000 13,250
ORI ERSE 4 26,250
OBAEZE olAH| 18,614
= 9,307
= 9,307
oszsysy 3,690
= 1,845
= 1,845
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A
g

=

m
40
]
0

S

2 600
< 600
&0 400
2 200
< 200
Owszga 2,346
= 1,173
= 1,173

201 Loy 1,000 1,000 0
= 500
= - 500

NIRRT 1,000 1.000 0
OLARH BHEHA 1,000
= 500
° 500

202 01t 3,000 3,000 0
2 1,500
= 1,500

RETET 3.000 3.000 0
ONESR AN 3,000
= 1,500
° 1,500

207 S OHeH| 82,000 119,770 A37,770
2 41,000

= 41,000 .

03 Al& A 2H| 82,000 119,770 N37,770
OAS 2 IR BY 77,000
2 38,500
& 38,500
ONEREH BEDH ¥ 42 5,000
2 2,500
5 2,500

405 RHAHE = 4| 36,000 0 36,000
= 18,000
°c 18,000

0 AL SEH = 36,000 0 36,000
OM~ZHI 3,000
= 18,000
< 18,000

28 OIEHEA0 ZAH(2D) 4,700 28,200 A23,500
Il 2,350
& 2,350

207 1IN H| 4.700 28,200 A23.500
3l 2,350
= 2,350

-1060-




SN 2R
B 09 AVSH(BA/BAYYS)
SHol: 2y AT 2 HSZA CERED

03 Al ol | 4,700 28.200]  ~A23.500

OAI% % JITT P 4,700
p] 2,350
= 2,350
AU oI U WEZA 34,600 114,600 £180,000
201 ZEr23H| 600 600 -0
01 AFR2H2IH| 600 600 0
ORSE DM 600
202 04t 6.000 6,000 0
01 ZLHOIHI 6,000 6,000 0
oY AU W HSEZA 6,000
207 AN 28,000 28,000 0
03 AI& 2T 28,000 28,000 0
OAS & IR ¢ 16,000
ONERH 2B DN ¥ 42| 2,000
OAZZI S HIOIRATIBHAISY 10,000
FR 2oy BELA FARE(2D) | 61,504 61,504 0
= 30,752
E 30,752
101 1244 27,168 27,168 0
= 13,584
=S 13,584
04 J12tHN2ZXSES 27,168 27,168 0
OF 8 Y BRAAMY BX 27,168
o230 19,270
2 9.635
= 9,635
OnZaL+d 3,854
= 1,927
S 1,927
OZE Rty 1,200
= 600
= 600
v 400
2 200
= 200
owzwea 2,444
= 1,222
S 1,222
201 et | 500 500 0
2 250
S 250
01 At 221 H| 500 500 0
OEEAANAMYESY 500

-1061-



A 8AH
Hy: =0
el &g

2 GEZA (et9: &)

- sk
= 250

202 01t 1,000 1,000 0
= 500
= 500

01 ZLHoIHI 1,000 1,000 0
OFQUAYERAAIIZ YRE) 1,000
= 500
1~ 500

207 17 If | 32,836 32,836 0
2 16,418
= 16,418

R 32,836 32,836 0
A2 2 IR 2 30,400
2 15,200
= 15,200
ONENH RE DN ¥ 42 2,436
= 1,218
= 1,218

=9 2y BEAN H2EX(2D) 48,000 75,500 £27,500
2 24,000
= 24,000

405 XHaH 5 SHI 48,000 75,500 £27,500
= 24,000
= 24,000

01 AL BEHSH| 48,000 75,500 £27,500
CESEFP] 15,000
= 7,500
= 7,500
OAERERD 11,000
= 5,500
= 5,500
PN 12,000
2 6,000
= 6,000
OSHAAE LI 10,000
=2 5,000
< 5,000

M2 S22 (2D) 28,800 28,800 0
b 14,400
= 14,400

201 YEr2 Q| 500 500 0
b 250
= 250

01 AL22It] 500 500 0
OMZHRNS £5281S 500
b 250
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SN BABZATR
M COlo AABH(PA/2AAZ)
el 2y FE g

-
202 01 bl 3,000 2,000 1,000
b 1,500
& 1,500
01 2LHOIY| 3,000 2,000 1,000
OB HZ AEA 2Al 3,000
p] 1,500
= 1,500
207 RN L H| 25,300 26,300 21,000
b 12,650
=3 12,650
REEET 25,300 26,300 A1,000
OAIS & IR 7L 25,300
p 12,650
= 12,650
B TAR(2D) 53,000 53,000 0
p] 26,500
= 26,500
101 Q121 11,624 11,624 0
p] 5,812
= 5,812
SV EEEEEY 11,624 11,624 0
OSHEARE AEY e 11,624
o=l 8,200
b 4,100
= 4,100
OoR3sYLY 1,599
pJ 799
= 800
O EEIHI 600
p 300
= 300
oatoi= 200
b 100
= 100
OEE-EA=F 1,025
p 513
= 512
202 O4H 4,000 4,000 0
b 2,000
= 2,000
01 2ol 4,000 4,000 0
OSHEANES BAID LR8O 1,600
p 800
= 800
OHIZ2IRLHE ZA IS 2,400
p 1,200
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col
e}
[=R=]

0F [0
>y
o
(U}
4
H
1y
~~
= H

2oz)

$
N
Y

S 1,200

207 20Kl 37,376 37,376 0
Il 18,688
= 18,688

03 A& & 22 37,376 37,376 0
OSHEAMEE T Al 21,976
Jl 10,988
== 10,988
OHIERIQAHE TAL AIAIIXH 15,400
Jl 7,700
= 7,700

SZHIOIHAE =IIRET ZA 28,588 28,588 0
Jl 8,588
< 20,000

202 044l 500 500 0
Il 150
= 350

01 =LHOIHI 500 500 0
oRAIH HRFA 500
Jl 150
= 350

207 S OH | 28,088 28,088 0
Il 8,438
< 19,650

03 AIE & 24| 28,088 28,088 0
OAN & JIXM ¢ 26,000
2l 7,800
< 18,200
O&E&H 2Sud 2,088
Il 638
< 1,450

NSEHE dgeimet RE(= 112,500 117,500 25,000
Jl 45,000
= 67,500

101 =244 25,120 19,145 5,975
Il 10,048
= 15,072

04 D1ZtM22REE S 25,120 19, 145 5,975
OZSIHXNIHH R &l 25,120
OF=1V! 17,794
Il 7,117
= 10,677
OrssegsdY 3,444
Jl 1,378
< 2,066
O EFIH 1,200
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B

el

0
40
|'_>|‘_!
o

= 720
ou02 400
J| 160
= 240
ogEsg:a 2,282
b 913
= 1,369
201 LBty 35,000 52,500 A17,500
pJ 14,000
= 21,000
01 At 22|t 2,500 2,500 0
OULYNANTICHYH 2 2,500
pJ 1,000
= 1,500
02 ZB=2H| 32,500 50,000 217,500
OMBOIHISTARAIL 2B 32,500
pJ 13,000
= 19,500
202 01 3,000 3,000 0
b 1,200
= 1,800
01 ZLHOiH| 3,000 3,000 0
OLYHNAHBICHE 29 3,000
b 1,200
= 1,800
207 Rl 49,380 42,855 6,525
b 19,752
= 29,628
CEEET 49,380 42,855 6,525
OAIE e Y| 49,380
OMA U ZRUBZARRG 19,380
b 7,752
< 11,628
OXloigs MAHAX FE 30,000
b 12,000
= 18,000
A OJOHE S OHEA A 246,041 418,130 A172,089
z 40,704
< 205,337
AlOjorE OhFA A 205,337 144,456 60,881
101 Q1248 10,337 10,336 1
04 JIZAH2ENS 24 10,337 10,336 1
OME IDIBRAA BX 10,337
oZ0f 7,585
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SH:

X ZH -
= Y

el

wi

BCEEEEE
O & EIHI 300
oauz 200
ogmse3a 940
201 2Bt 2,000 1,000 1,000
01 AR 221t 2,000 1,000 1,000
OAAZH Z.mIH| 2,000
202 Ol 18,000 16,120 1,880
01 240t 18,000 16,120 1,880
o3t 18,000
o 12,800
OS=X 5,200
207 RN 100,000 97,000 3,000
03 Al& & 3l 100,000 97,000 3,000
OANS L X e 75,000
o=¥ 45,000
OS=X 30,000
OABHH 22 uH £ 42 25,000
o=¥ 15,000
OF=F -] 10,000
405 TH&HF S| 75,000 20,000 55,000
01 At 23S HEH| 75,000 20,000 55,000
©JIMIAZ0HE DK 70,000
o==E=3)) 5,000
SHSE ot B2I(21D) 40,704 40,674 30
= 40,704
101 el 24d] 14,500 10,032 4,468
Z 14,500
04 JI1ZtRI22XSES 14,500 10,032 4,468
O&E RHESE A BxX 14,500
=L 10,250
z 10,250
oRssY+e 2,132
z 2,132
OYEEIH| 600
z 600
G 200
= 200
ogzsya 1,318
& 1,318
207 & IH eI 26,204 30,642 24,438
= 26,204
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2N 2ABRARN
E: TRIO ALSA(BA/BAYR)
Sl Al OJOHE S OEA A (B9 &9)

03 AlE 1| ‘ 26,204 30,642 T A4.438

OAI% L JIXHK 2 24,000
2 24,000
O4EIH 22 M ¥ 22 2,204
z 2,204

A Qe 471,237 581,720 A110,483

A 2Y 22l 408,797 544,240 £135,443

201 LBrE | 285,397 270,061 15,336

01 AHR 22 H| 168,000 157,334 10,666
OF A Z2IRX 36,200
ozd 15,200
osExd 21,000
OSRH L #D BA2 S $42 200
odEE £ 29= M 2,200
OH % 2l 9,400
ONAS2HA ANZ 120,000

02 ZB=22H| 109,397 112,727 A3,330
OMHZR2 69,000
osg 20,000
OsEXd 49,000
ozEY KX 35,000
ozg 22,000
OS=X 13,000
oYLty 1| 5,397
ozg 3,397
OsEXd 2,000

03 A2 Y| 8,000 0 8,000
OBZ I ME3 Iz 8,000

202 01t 18,000 21,176 A3,176

01 2LH0iHl 8,000 8,176 A176
OFAMN 2% HRFX 8,000
oza 6,000
OS=X 2,000

03 2L 20/H| 10,000 13,000 23,000
O L BHEO LK A 10,000

203 R Y| 15,000 10,000 5,000

03 Al ETLRETY| 15,000 10,000 5,000
O U BARO AMAR F7 15,000

204 =22 38,400 38,400 0

03 SHYL A 38,400 38,400 0
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SN BAEAAD
HA: SO0 AASH(2A/ZAE)
Sl FA 3YBe

38,400

(e &)

1 H0

12,000 0 12,000
12,000 0 12,000
12,000
10,000 200,000 £190,000
10,000 200,000 190,000
10,000
30,000 0 30,000
01 I ASEH SH] 30,000 0 30,000
osgg Iy 7o 30,000
FESAAE 2 16,440 15,480 960
201 Y2 | 16.440 15,480 960
02 232 16,440 15,480 960
OHNY U SATH RABS 5,100
ONAERN 24 11,340
SRR ot el 46,000 22,000 24,000
201 Q2| 8,000 22,000 214,000
EEE 8,000 6.000 2,000
oABA Y| 8,000
401 A& BIL 2 THYI 18,000 0 18,000
01 Al&HI 18,000 0 18,000
ouEA AHF 9,000
oxgsz 53 9,000
405 K& 3 St 20,000 0 20,000
01 ML ESHSH 20,000 0 20,000
oA BEF 20,000
Ney SE(SFLE/BBLEYY) 1,202,526 997,274 205,252
2 130,000
S 1,072,526
SR A3 627, 143 32,110 275,033
= 90,000
= 537, 143
Stds =EEFY 29I 76,373 60,340 16,033
101 Q1214 1,173 1,140 33
VPP EES=T=pS 1,173 1,140 33
OBtE4: U BA%: +BAM & 1,173
o2 861
oRzgY+y 205
ogzRea 107
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SN

=EE
=EE

PAHFATH
N SE(BY2S/8Y2EUY)
SEEH 23

201 er24 | 3,100 0
01 At 221l 3,100 3,100 0
ORFA+AAFI SN2 1,100
O02%s S HH0IEE 1,000
O+=SX=MIID| BE= 1,000
202 Ol 28,100 28,100 0
01 =LHOIbI 28,100 28,100 0
Ootd ¥ S4 FEXA 28,100
207 HOH eI 36,000 28,000 8,000
03 AIE & 2| 36,000 28,000 8,000
OA & JIXM 7¢e 28,000
O&sdH 258 WM ¥ #cl 8,000
405 XHatH S| 8,000 0 8,000
01 HMtL S SHSHI 8,000 0 8,000
OEELAFFD 3,000
©BODbH 2k 2| 5,000
HeEse odd M 370,770 171,770 199,000
201 2Er2E | 1,600 1,600 0
01 At 2|l 1,600 1,600 0
Ou=sEE Wl M 600
O=EXADII| &F 1,000
202 Ol 23,170 23,170 0
01 S 23,170 23,170 0
OoE=Es Hdd M 23,170
o=¥ 14,430
O8N 8,740
207 SO E | 99,000 77,000 22,000
03 AlEg &2l 99,000 77,000 22,000
OAS & IR 2 39,000
Oo=& 19,000
Oos=2XNd 20,000
O48dHl 85 WM % #al 30,000
o=¥ 20,000
Os&EXE 10,000
OJIASEE2A AEE JtA 3¢ 30,000
405 XratFH S| 247,000 70,000 177,000
01 A& 2 S FHSH 247,000 70,000 177,000
QAXII(SEXE) 2,000
OXXME(SEXY) 3,000
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B
=Lk

ol

CEEE Y
N8 BE(HYLS/BHISYY)
STEH 23

2,600 L

(el &)

O=AM0I2=sTEHI|(SEXY)
ONAIZDIEDT BHEHI|(SEX 240,000
BIAZ0F 2 M JIgrRE MY (21) 180,000 120,000 60,000
= 90,000
= 90,000
101 Q1A H| 105,336 70,224 35,112
= 52,668
5 52,668
04 JIZAHZ22XNEES 105,336 70,224 35,112
OE3E0F ZIMEX 105,336
@)=t 73,800
= 36,900
< 36,900
ORasrdsE 14,760
= 7,380
S 7,380
O EFIHHI 5,400
= 2,700
[ 2,700
oddo=s 1,800
= 900
T 900
OgERES 9,576
= 4,788
< 4,788
202 O4Hl 9,000 6,000 3,000
= 4,500
& 4,500
01 U oLl 9,000 6,000 3,000
O=U0odl 9,000
OUJIHEANE 2T M 1,500
= 750
L= 750
OooIsdEd & AUSIIE A 3,000
= 1,500
T 1,500
QHJIE & EL22ET A 3,000
= 1,500
S 1,500
Octa 4= =ZAA 1,500
= 750
S 750
207 S5O0l 65,664 43,776 21,888
= 32,832
e 32,832
03 A& & 22H| 65,664 43,776 21,888
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FA:

X ZH -
=T I

eel:

N EEREES 35,664
2 17,832
= 17,882
oNEIY LEIH X 42 30,000
2 15,000
= 15,000
Wol2a 23t 408,584 475,39 766,812
= 40,000
== 368,584
CHOIHHE & 2AHZ A 69,944 50,506 19,438
101 Q1218 1,444 1,406 38
YBIEEEDEL=PN 1,444 1,406 38
oIl JI= QHEAN BX 1,444
= 1,148
oszsYsd 164
ogERe3 132
201 et 2| 1,500 1,500 0
01 At 22l 1,500 1,500 0
o= DI L T FA 1,500
202 O4H| 25,000 25,000 0
01 =UoHl 25,000 25,000 0
oIl JI2 QATHA 25,000
207 SN 27,000 22,600 4,400
03 Al et 27,000 22,600 4,400
OANS U X 72 24,000
o= 2B X ¥ 22 3,000
405 XHeHH St 15,000 0 15,000
01 AU SEH S| 15,000 0 15,000
OZSANBUHEX (ASIIAMER) 15,000
VBl EEEEEE 223,300 168,300 55,000
201 Q2 | 59,300 74,300 A 15,000
01 At 2218l 43,300 58,300 215,000
OUIILE=EEHI FZAAM 22,000
OUWIISTY FEIIALY SX24 21,300
2 =22 16,000 16,000 0
OUIISHY S4 L ®IIRS 16,000
202 o4H] 10,000 10,000 0
TETEE 10,000 10,000 0
oWIeY=ENY 2 10,000
207 @ 2N 44,000 4,000 30,000
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FA 2AEFARR
g4 NSy 2= (#FE5/832528H)
Rl IIEd 2 (S &)

02 & AP Eh] ' 30,000 0 30,000
OLAXI IIZ K= T2y 30,000
03 Al& ol | 14,000 14,000 0
O=FEY BE DH L 22 14,000
403 XIS HS K20l A 70,000 70,000 0
02 SIS OCHE A= AT B 70.000 70,000 0
OUIIQYRNESHII| SXE4 70,000
405 THaHE S| 40,000 0 40,000
01 LS EH=H| 40,000 0 40,000
ongxZIEHI| 2 40,000
AWZIIE HA 35,340 36,590 A 1,250
201 YLt Y| 3,990 3,990 0
N EEDT 3,990 3,990 0
O=FmY DE Y HEAA 3,990
202 01 9,350 9,350 0
01 2Uoil 9,350 9,350 0
QMUZIIE QAT A 9,350
207 O N 22,000 23,250 A 1,250
03 AlE ot 22,000 23,250 A1.250
OAS 2 IR 2 20,000
oO=X=mY 2= D ¥ 22 2,000
HoIE==Y =#5(2D) 80,000 220,000 A 140,000
= 40,000
= 40,000
405 THAHE S 4| 80,000 220,000 A 140,000
= 40,000
= 40,000
0 RMUSEH L) 80,000 220,000 A 140,000
OED&=FQY DRUITIZA))| 80,000
= 40,000
= 40,000
HIIS S 295 A 166,799 169,768 A2,969
Q.H4 A Y AN 61,299 69,268 A7,969
101 Q1214 1,399 1,368 31
WMIIZH2ENES & 1,399 1,368 31
OMUTIXIHAZA BF 1,399
o=o0f 1,107
ogs=2susy 164
omEwaa 128
201 L2 Y| 1,700 1,700 0
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SA:

SAEF AR

¥ XGEd BEE(2FES/EAESA)

£

D HOIE § 8% A

" 1,700

1,700

01 N2 ZEIb
OAMNEH BEAM 1,700
202 01 bl 8,200 8,200 0
01 20| 8,200 8,200 0
O2 . H= A 8,200
207 1L H| 50,000 58,000 £8,000
03 AI&E & 21| 50,000 58,000 28,000
O L T Y 40,000
o=m =y 2E D 2 42 10,000
HIIS @ SAQAT Al 105,500 100,500 5,000
201 2Bt2A Y| 3,000 3,000 0
01 ASZ 2 3,000 3,000 0
OEUHUZAS MBI AUE 3,000
202 04 HI 4,500 4,500 0
NETELT 2,500 2,500 0
ONZHH 4,500
207 SN 33,000 33,000 0
03 A& A 32| 33,000 33,000 0
OAISF & JIX 2 23,000
O=ZFIH $E DY ¥ 42 10,000
405 XH&HH =] 65,000 60,000 5,000
BT 65,000 60,000 5,000
oxrezA)) 65,000
MM SA AL (BABHT)(JIE/IIE) 4,375, 159 4,253,668 121,471
ol 2HY| 4,177,219 4,053,553 123,666
29w oy A 4,131,945 4,011,583 120,362
101 21218 3,974,565 3,859,008 115,562
0184 3,974,565 3,847,046 127,519
oJl=2 2,988,814
o=z 2,758,905
—giur 534,695
43 4,151,700 12122 49,821
62 3,200, 20081 %22 » 122 77,021
.73 2,951, 10021x72» 122 047,893
.83 2,666, 0002 +52 122 159,960
oinm 4,157,80081% 1124 %128 548,830
YN 2,792, 30021 +502 » 128 1,675,380
omzsy 2,758,905, 0002 *1/12+100% 229,909
o4y 505,300
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SA:
B

el

Q2 H
0 1Y

[0 Ho rioe

02 08 0¥

%
(A& ARA)(IIEH/IIE)

(el &)

SS/EPY; 56,640
- Xt 40,0002 +65% * 122 31,200
-SQtE 20,0002 +106% * 122 25,440

Sy IEL TR S3= 23,229
-NSEY 446, 70021 %132 %43 23,229

OE-ER=pIVC= 94,440
-2510/ & 130, 0002 +312+12 48,360
~20~25 0] 8¢ 110,000 *20% #1228 26,400
-15~2012 0/ 8t 80,0002 +112122 10,560
-10~1512 0/ 8t 60,0002 +6 2 « 128 4,320
~5~101 0 8t 50,0008 *8% 128 4,800

oL -ELES- 37,800
25 37,800

SPIEES 50,0008 *22 128 1,200
o 50,0002 112 »128 6,600
oA 50,0008 *50% * 122 30,000
OB2UYRLY 5,120, 1302 +3Y 7 .8%+ 122 14,378

ouezLa+gy
2,926, 790 +352 4. 1% 128 50,400

oREzRALY 50,0008 %22 *128 1,200

Os+ge+g 61,680
lsgRag 20,0008 * 124 %128 240
el eLy 80,0002 #6124+ 128 58,560
-REHSHLY 40,0002 +32 128 1,440
plEYesy 30,0008 *3% #1281 1,080
-~ Ay 30,0002 %124 128 360

ONZADRAY 8,476 73 *25A| 2H+122 185,625

oZUZ A 130,000 +76% #1228 118,560
OYE £t 275,891
OB &Y
2,758,905, 0002 «1/ 12+86%+1/30+ 102 65,908
204 DR AH| 157,380 152,580 4,800
EEEEST 157,380 152,580 4,800
o 26,580

043 400,008+ 1% #1228 4,800

062 155, 0002 %22 *128 3,720

ora 140,008 +7% #1228 11,760

082 105, 0008 *5% * 128 6,300

og7H 130,800

o”z 500,000%+1+ 128 6,000

ogRe 400,000 %1128 4,800

oglma 250,009 9% + 128 27,000
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SN AN
WP AR (SASZATH)(IEHIIEH
Sel: o2y EER-EY

O%TA 155, 0002 #5024 * 12 93,000

Azl 29 45,274 41,970 3,304
101 1A Hl 45,274 41,970 3,304
03 RIAAZZRE 45,274 41,970 3,304

(=10 41,0003 »2E #261 21,402
oauz 21,402,000& »1/12+43| 7,134
OR=SFE+HE 41,000 x2H 52 4,264
OFE S| 300,000& x2& 28] 1,200
O=24ltl 130,000 x2Z«12& 3,120
OuEH 60,0003 x2E 128 1,440
OXRERIHr+E 69,8013 2«16 2,234
oHIRLI(UU 2E8R) 40,794,000 *10% 4,080
on=y| 100,000& x2& %23 400
=gl 197,940 200, 135 22,195
PA2E 123l 173,940 175,935 21,995
201 ¢Er2g| 72,100 72,219 A119
01 At 22l HI 67,000 67,119 A119
ORAN2I AR2ElH| 67,000
o=g 58,700
Os=2Xd 8,300

02 =324l 5,100 5,100 0
ORN2E E32%H| 5,100
o=g 3,850
Os=X& 1,250

202 OdH| 30,000 30,276 2276

01 SLHGHI 30,000 30,276 A276
ORAM2E U0 30,000
o=¥ 22,000
OsS&EXNd 8,000

203 R=aH| 23,740 23,740 0

01 1228 YR =8| 9,000 9,000 0
o 6,000,000& 6,000
(OBt s 3,000,000& 3,000

02 HAJMMHR = 3,040 3,040 0
OFRAIMERFXHI 40,0003 *76H 3,040

04 BA2HYRFA| 11,700 11,700 0
O&RH 250,000« 128 3,000
(O 475,000 «12& 5,700
(OF=F N} 250,000& 128 3,000
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FA 2A8ZARR
A HY2IZH(2ASZ A2 )(OIEH/DIEY
&l (et &)

Etel: D12

27,600 26,400 1,200

204 AR 4 AY|
01 Mg 27,600 26,400 1,200
ouz 650,0008 12§ 128 7,800
oy 350,0008 12§ 128 4,200
OE2IE 350,000 124 * 122 4,200
ounz 100,000 x8F »12& 9,600
OB (NNE) 150,000%* 12128 1,800
405 KHAatH SHI ’ 20,500 23,300 A2,800
01 AR ESHSH 20,500 23,300 22,800
OTV(50H) 3,500
O=AI(1TH) 5,000
©0l0124 (11CH) 8,500
O (1Y) 3,500
gxy 29 24,000 24,200 £200
201 ZE2 S| 24,000 24,200 £200
01 At 22IH| 24,000 24,200 2200
oY - =& 4¢ 24,000
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